Pelicious e Pecimals

Write each phrase as a decimal.

1.

one hundred nine and six hundred seventy-three thousandths = 109.673

five and three tenths =

nine hundred twenty-nine and one hundred sixty-eight thousandths =

three hundred fifty-three and nine hundred eighty-one thousandths =

sixty-seven and four hundred fifteen thousandths =
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Write each expanded form as a decimal.

1.

5x100+6x10+9 +2x(1/10) +7 x (1/100) + 2 x (1/1000) = 569.272

7x100+9x10+1+8x(1/10) +8x(1/100) + 7 x (1/1000) =

9x100+3x10+5+2x(1/10)+ 1 x(1/100) + 1 x (1/1000) =

5x10+2+9x(1/10) + 6 x (1/100) + 3 x (1/1000) =

7x100+6x10+5x(1/10) +9x (1/100) + 5 x (1/1000) =
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